
                        UNIT   8


1.   Match the pairs. (7 points)


1. Who’s is Minos?                             a. It’s a dangerous monster.


2. What is the Minotaur?                     b. They can fly like birds.


3.  Where does the Minotaur live?      c. He’s got a bull’s head and 

                                                             a man’s body.


4.  What does the Minotaur look         d. They need feathers and 

like?                                                      wax.


5.  Why are Daedalus and Icarus        e. The king of Crete.

in prison?


6.  How can Daedalus and Icarus        f. He mustn’t fly close to the 

escape from prison?                            sun.


7.  What do Daedalus and Icarus         g. King Minos is greedy.

need to make wings?


8.  What mustn’t Icarus do?                 h. In a huge maze.


1e     2…      3…     4…     5…     6…     7…     8…




2.    Circle the words.   (9 points)


monster,   dangerous,   palace,   window,   maze,  feathers,  escape, 
bull,  fly


p r i m o n s t e r

e s c i y c r e d s

f n b o b u l l a a

e s c a p e m i n t

a n w e a f r t g h

t e m u l l o e e d

h f a a h y e p r i

e w z s w i n d o w

r b e o t s i q u e

s p a l a c e b s u



 3.   True or false?  Circle the right answer.  (4 points)


The Minotaur is a monster with a bull’s body and a man’s head.   

                                                                                            T     F


Daedalus and Icarus can make feathers with wings and wax.

                                                                                            T     F


Daedalus and Icarus can fly through a window                 T     F


Flying close to the sun is dangerous.                                 T     F


                                                 What’s your score?……/20 points


